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General Instructions :

(i) Answers to questions carrying 1 marks may be from one word to one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii)  Answers to questions carrying 4-5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. 1 U 1 Y ANTA-I Sl & § A W@ §U Aol 3rad 1 hl e, THarett ot g
T qAT 32T T U H & 2 270 ST & 9T § HROT T | 1

Is management concerned only with doing the right task, completing activities and
achieving goals without taking into consideration the cost-benefit ? Give reason in

support of your answer.

2. USY % UH HE S ET Y GIST Hi RIS BT | 1

Define ‘organising’ as a function of management.

3. 3 WSAHS Gl T AH FARY S g U FATeH FHeTdl Hf dgH § TerRd war e | 1

Name the organizational structure which helps in increasing managerial and

operational efficiency.

4. HECHE BREART § FReTE iR H Seord HiT | 1

State the role of ‘Inspector’ in functional foremanship.
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5. foda e % 39 U&7 T A A gU ool ity St et wa famitem o & s ey

Y HT & | 1

Name & state the aspect of financial management that provides a link between

investment and financing decisions.

6. ‘I TouH WA feAfee 3Test UrE aTel UTA.S S, Soad 1 T Y @ At SR W
TR Y WA G T @A | FHEA B AT IR SHAT Ui 5T 800 Fodt i Al | FHHAT
% TaUu Yo, G J SR % @IS i AR g i forn 6 o de-fadrT giee @ o
o Y YT BN | feh 3G AfaeT T 23eeh | T STH TR &, 37: ScaIed sosii hl
TOTERTT Ue AT H R & feld SH Ush URShd Y- SRS 1 o forar |

ST St T YST STMEATAHATST ! TIfd e Aol AT bl T | 1

‘Best Bulbs Pvt. Ltd. was manufacturing good quality LED bulbs and catering to local
market. The current production of the company is 800 bulbs a day. Sumit, the
marketing manager of the company surveyed the market and decided to supply the
bulbs to five-star-hotels also. He anticipated the higher demand in future and decided
to buy a sophisticated machine to further improve the quality and quantity of the bulbs

produced.

Identify the factor affecting fixed capital requirements of the company.

7. TIUUM % 3T HE & AW SR S @i (3oell) Yo & Heweul o § g § | 1

Name the marketing function which is concerned with the important decision of

managing inventory.
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8.  OFAS Tl IUHIT US IUHMCR S ol TWRIGH & foTd g0 Ueh {a¥is g 0 ST o1 | 39
T | falig= siiel o A= TR & I71E 95 3Tes! oRe URISTT &id & e Surerd fashashal
o AT STEvgehar &l af TSl foshd TRfd a1 o1 | Tifch 98 3oh 39k oY ¥ &g ¥ of |
3G T 3= T 0T STv=d BT o1 {oh AMes 3@ S W ST § 3191 3o 31T 9ad
F =AY TETdT € ek SHh B %k UG 9gd 9 9¢ S Bl §HH &, [ U SUENT Ue
ST TY STCTH B & |

3 A AHAS § 39 o9 g W S HT R YBT | HHA A I 6 98 310
ANMYHRI | T Teh MBI T TN Y TeT & [STGehT U1 58 U i Sg1 511 ool 3T § el

T G |
e 51T TR {5 T SUsferT S1Teh o Soei@ hifsTy | 1

Manvendra always went to a specific shop to buy all consumable and non-consumable
goods. In this shop variety of products of different brands were displayed nicely and
the sales person available also gave good sales presentation if required. But this shop
was quite far off from his residence. His friend Annant always wondered why
Manvendra wastes so much time in going to that shop where as there were many big
brand shops situated near his residence having consumable and non-consumable

goods.

Annant asked Manvendra the reason of going to that particular shop. Manvendra told
that he was exercising one of his ‘Rights’ which he could not exercise in near-by big

brand shops.

State the consumer’s right which Manvendra had exercised.

9. TS o TRl i GiHTeTl h THEEy | 3

Explain any three limitations of ‘Planning’.
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10. st 96 AR, ST T=OTEST & @Hl € 3R FHE 6 a&qe s H Fa9d 7 § |
TS | agd & ST o7 37 oo UIed el &l U7 ¥ & | 3HA 370 A9 Rawr, e andr-andt
3O THSNT, IX B &, & TEehT HRUT G o fold el |

T 1 aren foF 3k fuer @i 3o HHEREt St ArEdr § faver 7@ o 3R 9 3
RIS I T TE A W S | T & AT o T H IR B HET A | 3T HHAR G
T |

(37) U Rt & T ST S 9EEH I R ST S TS 310 el
UTe &l Y 1 & T |

@) SWIET (37) 90T H Y= 7T Yeish 16T & FehR i Teh 3T STl T 3oeid it | 3

Mr. Mohan Kumar, is the owner of Jason’s Enterprises, carrying on the business of
manufacturing sanitary items. There is a lot of discontentment in the organization and
the targets are not being met. He asked his son Ritesh, who has recently completed his

MBA, to find out the reason.

Ritesh found that his father did not have confidence in the competency of employees
and was not seeking their advice or opinion. There was also lack of transparency in the

operations of the business. Thus, the employees were not happy.

(a) Identify any two communication barriers because of which ‘Jason’s Enterprises’

was not able to achieve its targets.

(b) State one more barrier each of the type identified in part (a) above.
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11. el u=wmess fefies & dF HHER! — fomig — HHe SH1E Uawe, SHST — Jeds Ueush
qAT 3TN — fauur 3eger § FHroe Sie &1 o= fom |

FHAT % T BN Tewesh - THa GHTE o — [a-1g ol ST 31T S8 3R
fra fof o8 WiTe Bie ¥ Ugel Ol @rell 981 & WX T | faAig = gera T foh 3uen sty
TSI S5 & g Ue foavadq g € | Afg YT § 39 S Y TSAT ST A 9 |l Seavas
H H M | T&F HEBR T THFH [T Ferd & T | ToRT 7 S [ped” d g
fopar e “feciel weammest fafies” & fore fauom sreaer o ug o1 fommoe feam | o et
% foTT Ueh TR UeaTelt <l SRl | Thet §U | 3BT o o US ol HEe T ST ST
ST ST ST O ek WY T T |

(3)  SUE o U1 T R o fIu fdet texmmestsT fefiee gRT vge el 3 3Tiweh/sSer
|l & AT TRy |

(@) SIS H YggH T 9l o Fedieh Al & Th-Ueh AT Fl Seoid |l iy | 3

Vinod — The Human Resource Manager, Umesh — The Assistant manager and Ashok —

The Marketing Head of Hitashi Enterprises Ltd. decided to leave the company.

The Chief Executive Officer of the company called the Human Resource Manager,
Vinod and requested him to fill-up the vacancies before leaving the organization.
Vinod suggested that his subordinate Rajesh is very competent and trustworthy. If he
could be moved up in the hierarchy, he would do the needful. The Chief Executive
Officer agreed for the same. Rajesh contacted ‘Zenith Recruiters’ who advertised for
the post of marketing head for ‘Hitashi Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Umesh’s vacancy was filled-up by screening the

database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Hitashi Enterprises

Ltd.” to fill-up the above stated vacancies.

(b) Also, state any one merit of each of the above identified source of recruitment.
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12. ot TS Tl 68 o % TIRET I | S 37T AW I B @I AT | SR g &
Fiteh b FIUd T T TTIT S T H W@ A7 | 396 39T FH TR God ff AR ag
W AT | 9% = Hifd T {6 a8 et S 1 SIURT HAT | MG Tl ST o o 39
HINOT § e S % 379N T Hod ST | 5ok T Teh AT B % A 3 Sioh % 3791 GRIEA
1 SAEHR L A1 | 3T 20 T oA T THeT A FeT 6 9 3qF 9 F e H 6 WIS
0 Taf =it oY, T & 3 ST T o1 St areeT o |

TS 3790 T ot 40% o T 3R 09T & 3791 7 IR Godf 37 8.4 il Tud
2T | SO 2.4 S T 1 A AR R | 38R 1.2 e o 4t anfeey e i ¢ i
3T 1.2 g T8 W W o0 | YRAF Wiayid ue fafeme dig (Seh) §R1 St Sorent 9
B TE MEHd ™ % 9% 39 ACEHG S gorrdr g | Hel 7 3fieed el WA
STHTT ST |
SR IS ¥ Ufedl w SqYA B U Jelt g7 FAoAfee TRl & bt I Ueew we
H! 30 HIT | 3

Mr. Aditya Gupta was the chairman of ‘Vandan Bank’. The Bank was earning good
profits. Shareholders were happy as the bank was paying regular dividends. The
market price of their shares was also steadily rising. The bank announced taking over
of ‘Karur Bank’. Aditya Gupta knew that the share price of Vandan Bank would rise
on this announcement. Being a part of the bank, he was not allowed to buy shares of
the bank. He called one of his rich friends Nimesh and asked him to invest % 6 crores

in the shares of his bank promising him the capital gain.

As expected, the share prices went up by 40% and the market price of Nimesh’s shares
was now X 8.4 crores. He had earned a profit of ¥ 2.4 crores. He gave T 1.2 crore to
Mr. Aditya Gupta and kept I 1.2 crore with him. On regular inspection and by
conducting enquiries of the brokers involved, Securities and Exchange Board of India
(SEBI) was able to detect this irregularity. SEBI imposed a heavy penalty on Aditya
Gupta.

By quoting the lines from the above para identify and state any two functions that were

performed by SEBI in the above case.
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13.  UH Tl dF feen-Feell o1 Sooig hifsT ST STHIERT Hie g Uiduel o fod e ST fhT S
& 19 o Tehrad i T4 & A H Hqe Bl § | 3

State any three directions which can be issued by the consumer court to the opposite

party if it is satisfied about the genuineness of the complaint.

14. Yo=Y i el IR foRoarsti i GHeisy | 4

Explain any four features of management.

15. ‘T TiRHey faiee o o™ &1 Jae Holfe™n § X @ oot | e %
SoTaRTeh a3t o ST Y WX REATI i ST o U9 ! = 9T Sl 379 ScaRl

T U &Y a1 | ST S IRA W Gesh] (ashdrat o Hge foRar Seeht afaearsti o |

TeeT S-S Ty &7 dlfeh S1a 3TeRgehdl &l Wi &l I 9 i ST Fqoh |

SR T o afad Seaes 9aiervT o AT Sl TEe-T Ue HeeT | 4

‘Accent Electronics Ltd.” was operating its business in Malaysia. The company started
exporting its products to India when the Prime Minister announced relaxation in
import duties on electronic items. The company appointed retailers in India who had

direct on-line links with the suppliers to replenish stocks when needed.

Identify and explain the dimensions of business environment discussed in the above

casc.
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16. ‘Uel o feafee 3 f9er & U Usg & ° ST %@ & 9gd &Y 368 Suetsd &, 30T 2%
7T i Uk 1S et TMUd S ol 0T foram | S & & @l 3 ‘Ul 7o faies” & 3q
TG BT W fhaT | et | I Bl h1H o feAT STreitd i o fow st = @ ot for
foran for Tl URER § Whet, ST, SR Sodis Sl Sgd O growmd off SUeisd IS
ST |

vel T fafiee’ 3 STeafeeh o AfTa oheaT IR < ST | Ueh GERT Uit sheor
AT TS Ve ‘G i Ul THT e’ §RT 3eTd ThU ST I8 3TcaTeh o o hRUT
T 9T T & ol @ |

o1 7 U o6 SHT & FEE § WSS S8vt i Wi & e faf= fenet &
o AT THOT € | Udsh HHAR] ol T8 T0q & [ i g Uid SeE! Ue Siarece ¢ |
ShaeT 3T ST & Toh STeh T o WUNUT HIIH 2ol % HIemd W € el € | STelfeh “Ue 2o
Tl Tuir 1 STavahaaR Gt fgenstl § wafed g &t SFafd W& e §, e
IS T TG TeTE BT & SR Hegad ot R et & S ¥ |

(37 TS % 3G UPR Tl gl ST G0 i Tt fgemstt ¥ vanfed - @i srafd ‘uer
7o feAfee ol U T € |

(F) AN (37) H UETH T TS % YHR % Ueh AT Hl Seoid DT |

@) TH S ge HT Seoid HIT S del 2o fafiee” TamsT 6l Guiftd S It € | 4

‘Panda Trucks Ltd.” decided to set-up its new truck manufacturing factory in the
backward area of Bihar where very less job opportunities were available. People of
that area welcomed this effort of ‘Panda Trucks Ltd.”. To attract people to work in its
factory it also decided to provide many other facilities like school, hospital, market

etc. in the factory premises.

‘Panda Trucks Ltd.” started earning huge profits. Another competiting company asked
its production manager ‘Sanjay’ to investigate the reasons of earning huge profits by

‘Panda Trucks Ltd’.
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Sanjay found out that in both the companies there was systematic co-ordination among
the various activities to achieve organizational goals. Every employee knew who was
responsible and accountable to whom. The only difference was that in his organization
communication took place only through the scalar chain, whereas ‘Panda Trucks Ltd.’
was allowing flow of communication in all the directions as per the requirement which

lead to faster spread of information as well as quick feedback.

(a) Identify the type of organization which permits ‘Panda Trucks Ltd.” the flow of

communication in all the directions.

(b) State an advantage of the type of organization identified in (a) above.

(c) State any two values which ‘Panda Trucks Ltd.” wanted to communicate to the

society.

17.  <HUH. TASH [AHEE” T ol FHRTeTdl IRIHRRIAT FHHAT o | e & Sl 219 o 219 ar
3O UTEehl ol Tf 3 o foTw fafir= Tt ot o s & | ot st i o SRR 2 =T
TATE STETST 5T AT Sl o7 STaich ST 21 TSH FRT AT XAl of | TqH T hael e
TG G A7 3 F-F S R Afeen TEE F kel A FA F AU AR g

qedar ar |

T URUTHEEY, 3THAE TeAcHe 32l &l Wi & T 39 TR § % Fal 2 Ui &
SIET STY STUTRTT o7 | AT o YT HEBRT SUBHRT Sl 38 I H YT IeT | 3T JH =l
T AT, 9 foud | STk Q1Y @ bl AU BT BT AT NG 9] aF | T8 i ferar waw
T wfasr & a1 Gled T I U I A HET 3T AT & THT H GFUANT ST F
T W& T ST ST ATl TRTT i o aT § T | ST GehRIcHS TTe Uel X 29 & Tedsh
TEE - 2 A1 §RT ST T § 1 A1 U T T |

& HEASRT ATHERT FRT TG Ta-4 o 1 o el b (ORIl 1 3eoid i | 4
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‘K.S. Energy Ltd.” was a energy efficiency consultancy company. To get the business
the team leader and his team used to travel to different states to give presentation to
their clients. As per the policy of the company, the team leader used to travel by air,
whereas his team travelled by road/train. It was not only time consuming but also at

times forced female team members to travel alone.

As a result, the subordinates were not acting in a desired manner to achieve
organizational goals. The CEO came to know about it. He called the team leader,
discussed the matter with him and changed the travel policy of the company. It was
decided that all the members including the leader would travel together in future and
would usefully utilize the travelling time in discussion with the subordinates about the
presentation to be given to the clients. This made a positive impact and every member

of the team started acting in a manner as desired by the team leader.

State the features of the element of the function of management used by the CEO.

18. <t fitaee ‘o i+ ool Bl o1 forqur o< ¥&T o, T ST JoTe 31X UTeeh 1 U8
ST AT [TshT-SRT=T Y3t o HRUT Sgd Ug off | AT SR | U 310l SHeoT ot
3R ST A ST T T oAl | TR AT % FRT HHAT  foha-Sw Jars W
& AT &% Y (AT | 3k UROTREEY UTeshi o W1 HHT o Tr S &l T 7 ST
I TR | HET B BT TR & T | FAH SAGH  o STeAT FHH B T 3o Tawe
TO% AR | fafad geT | favetuur W =g udr Iet o faskaiorT= Jansti &t &= | &l W@
T HROT AT | 3TdA: FHHAT A SHAT Dl ASRT | 3TIHT BfeT Sl T 3 Tel THHT FER HlA
% oo Tt Te 3UTT STUATT | ST UROTHREEY TS | Sy i @i ° gur 317 |

(30 SWITT a0 e § [quurEesd §RT S S Sfa & GERa & o0 ugead qeer &

YT hl HH Fdld gu 3T 3ol % :?lQ |

(F) 9T (371) | UgAM T Qre i Y Jf THesw | 4

66/2/1 11 [P.T.O.

Get More Learning Materials Here : & m &R www.studentbro.in



Diksha Ltd. was marketing ‘Dish-Washers’ which were very popular due to their
quality and after-sale services provided to the customers. The company was a leading
company in the market and earning huge profits. Because of huge profits the company
ignored its after-sale services. As a result its relations with the customers got spoiled
and the image of the company was damaged in the eyes of the public. Top
management became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring after-sale services was its reason. Therefore,
the company took all possible measures to protect and promote its image. As a result

the goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the above case

to improve its images.

(b)  Also explain role of the tool as identified in part (a).

19. WA IR | ¢ Ysit Fme 6t et =R fafea o1 Soetg it | 4

State any four methods of floatation of new issues in the primary market.

20. =i o ge ferie A SoRaeTger Wit o Sroet feult qRi Bl | SEH F® WHE Ao & ST Hue
Ht T A | 1 R | 9 T Sl B g9 Fé o | 39 98 o forn R e o
Y HUET i T D Teh AT TohIg TAMUT HAT | ST FT 3299 Ud e M [y 3T
3% I A T HE-AHNE a8 |
IR T 239 WIH a9 H =T AT O 80% AT ST he1 a1 | T8 For foran man
FHedT I 19 HUET, °T, T TN &1 T 1 IUR W TR S | 394 I8 off Hoig foran
o 2T9= ST o AT W SR o [qUv & T Tt 3Trervarss =)o &l UTet fohar S |
3T IR Ve o &Y § Rt it g fopan S searee feranett @t fonfsa & &
et aRient bt oft forr foram | Rawr = a9 o) & el | HH=IRET S STEvIHAT T YS9
A el TTaRoT ot TR foham | 3T aTett SaTgsh! & foe FHera = Raer o esER o=
SCART o 310 el o I | o grer fohar |
el URET H UM A gT U ST aTel SHEEl 0 3 200 id 7 3 S i =won o
HE |

TrEa AT S Gl Sl 38ga B §U S drad [ AT o WRRT
TR U THEET | 5
66/2/1 12
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Two years ago Nishant, completed his degree in Textile Engineering. He worked for
sometime in a company manufacturing readymade garments. He was not happy in the
company and decided to have his own readymade garments manufacturing unit. He set
the objectives and the targets and formulate action plan to achieve the same.

One of his objectives was to earn 80% profit on the amount invested in the first year. It
was decided that raw materials like cloth, thread, buttons etc. will be purchased on two
months credit. He also decided to follow the steps required for marketing the products
through his own outlets. He appointed Ritesh as a production manager, who decides
the exact manner in which the production activities are to be carried out. Ritesh also
prepared a statement showing the requirement of workers in the factory throughout the
year. Nishant informed Ritesh about his sales target for different products areawise for
the forthcoming quarter.

A penalty of ¥ 200 per day was announced for the workers who found smoking in the
factory premises.

Quoting lines from the above para identify and explain the different types of plans

discussed.

21. 9, TS ! Uh Fg HHT § HRERT & | ISl Hral G 9 3T @R o7 | ST 39 ok
T S Bl TS, A U1 TN o S TR & | SEeht R Sge o7k o, ofd: 39 STuare
T ot fora T 3R SRRl 3 TR HolE &Y | SHb Uk Treft F 39k A T @
U Tatad gemr 9eT | foFid = G & TS % Sl HHEINET B AR & [T W 6 A
! UTAT X gU U Tearad garT &t | 519 Helvaegeh i 39 I | ST g, a9 39 AT o
3T YHTHIOT 3T Gk 3TY-UIG Dl THE BT ST {527 |
(37) ST ST W SRS Te ST T ¥ qef-< dfeal S 339 HIU |
@) NG T S el & foRiaret &1 Seehd HIT |

@ fodid §R 9T B qEiitd T ST et foheal 3T Goat Pl Yge iy | 5
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Yash is working in a multinational company in Noida. He was running temperature for
the last many days. When his blood was tested, he found positive for chickengunia. He
was admitted in the hospital and a blood transfusion was advised by the doctors as his
condition was very serious. One of his colleagues sent a text message to his immediate
superior ‘Vineet’. Vineet immediately sent a text message to the employees of the
organization requesting them to donate blood for Yash. When the General Manager
came to know about it, he ordered for fumigation in the company premises and

cleanliness of the surroundings.
(a) From the above para quote lines that indicate formal and informal communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated by Vineet to the society.

22. U o AN Ud HIOr S o SRy 6 ool ST | 5

State the relationship between ‘planning’ and ‘controlling’ functions of management.

23. VoY & fEgAr % Hed R U ST Aol el ar faget st guemy | 6

Explain any four points that highlight the importance of principles of management.

24. Wl fehee U Totaie awgett st Mo s € 1 gHent 37er US 3 120 o ¥ | st
T THH! T ST A X 0.5 o | afereietor 3 e et @ % 80 NG I SR TEwEshar
off | g9 foTT AT 3 10% Fomod Fifha &eeh fod Ui T | =re] ad o &eer A
fafaifsra ot o) T 16 g o ST foRa | 39+ 40% i 3T ¥ 3T I o6 |

(30  3ooTE T o FerferefierRor Ux STOTENTET oht Uil 3197 3T & &Y g3 A1 &1 g | 370+

TOMHTST &l W T F IR |
@) Y e 3T Yo I & 9T & T H BT §RT FOE & A % uet | =l de
T N IJooid Wl HIT | 6
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Sakshi Ltd. is a company manufacturing electronic goods. It has a share capital of
% 120 lakhs. The earning per share in the previous year was < 0.5. For diversification,
the company requires additional capital of ¥ 80 lakhs. The company raised funds by
issuing 10% debentures for the same. During the current year the company earned

profit of ¥ 16 lakhs on capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost in respect of earning per share on

diversification. Show your calculations clearly.

(b) Also state any three factors that favour the issue of debentures by the company

as part of its capital structure.

25. ST A ™ GGRI HF 5§ ST H U Uehe TIRT | Uohe WX & T8 GO W & o |
THHT ITAN FXh I AR BT T | SUIHIT W07 A o 3d 39 e wRe |

ekt 3T ol 37 3 T&d et T |
(3) SR @i § 3 Hewaqul Uee] i Ugdl-T [STaeh! [aqurehdl 51T STaeeT i TS ¢ |
(@)  SUER (37) H Ted 7T Yge] & AT T Geld § JuH HifeT | 6

Pooja purchased a packet of juice from the local grocery shop. The information
provided on the packet was not clear. She fell sick on consuming it. She filed a case in

the District Forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect which has been neglected by the marketer in the

above case.

(b)  Explain briefly the functions of the aspect identified in (a) above.
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Strictly Confidential: (For Internal and Restricted Use Only)

66/2/1

MARKING SCHEME - 2015-16
BUSINESS STUDIES
FOREIGN - 66/2/1
EXPECTED ANSWERS / VALUE POINTS

DISTRIBUTION OF MARKS

1

Q. Is management concerned only with doing the right task, completing
activities and achieving goals without taking into consideration the cost-
benefit? Give reason in support of your answer.

Ans. No, management is not only concerned with doing the right task,
completing activities and achieving goals but also has to take into
consideration the cost benefit i.e. doing the task correctly and with minimum
cost.

% mark

+

% mark

1 mark

Q. Define ‘organising' as a function of management.
Ans. Organising is the process of identifying and grouping the work to be
performed, assigning duties to job positions and establishing relationships for

the purpose of accomplishing objectives.

(Or any other correct meaning)

1 mark

Q. Name the organizational structure which helps in increasing
managerial and operational efficiency.

Ans. Functional structure.

1 mark

Q. State the role of Inspector in functional foremanship.

Ans. The role of ‘inspector’ as a foreman in functional foremanship is to
check the quality of work.

1 mark

Q. Name and state the aspect of financial management that provides a
link between investment and financing decisions.

Ans. Financial planning.

1 mark

Q. 'Best Bulbs Pvt. Ltd. was manufacturing good quality LED bulbs and
catering to local market. The current production of the company is 800
bulbs a day. Sumit, the marketing manager of the company surveyed the
market and decided to supply the bulbs to five-star-hotels also. He
anticipated the higher demand in future and decided to buy a
sophisticated machine to further improve the quality and quantity of the
bulbs produced.

Identify the factor affecting fixed capital requirements of the company.

Ans. Growth prospects.
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1 mark

7 Q. Name the marketing function which is concerned with the important
decision of managing inventory. 1 mark

Ans. Physical distribution.

8 Q. Manvendra always went to a specific shop to buy all consumable and
non-consumable goods. In this shop variety of products of different
brands were displayed nicely and the sales person available also gave
good sales presentation if required. But this shop was quite far off from
his residence. His friend Annant always wondered why Manvendra
wastes so much time in. going to that shop where as there were many big
brand shops situated near his residence having consumable and non-
consumable goods.

Annant asked Manvendra the reason of going to that particular shop.
Manvendra told that he was exercising one of his ‘Rights’ which he could
not exercise in nearby big brand shops. State the consumer's right which
Manvendra had exercised.

Ans. Right to choose which states that the consumer has the freedom to chose
from a variety of products at competitive prices.
1 mark

9 Q. Explain any three limitations of ¢ Planning’.

Ans. Limitations of planning: (Any three points with explanation)

%2 mark for heading

(1) Leads to rigidity +

(i) May not work in a dynamic environment. Y2 mark for
(i11) Reduces creativity. explan-
(iv) Involves huge costs. ation
(v) Time consuming. =

(vi) Does not guarantee success. 1x3

(if an examinee has not given the headings as above but has given the 3 marks

correct explanation, full credit be given)

10 | Q. Mr. Mohan Kumar, is the owner of- Jason's Enterprises, carrying on
the business of manufacturing sanitary items. There is a lot of
discontentment in the organization and the targets are not being met. He
asked his son Ritesh, who has recently completed his MBA, to find out
the reason.

Ritesh found that his father did not have confidence in the competency of 2x2
employees and was not seeking their advice or opinion. There was also =
lack of transparency in the operations of the business. Thus, the 1 mark
employees were not happy.

(a) Identify any two communication harriers because of which 'Jason's +
Enterprises' was not able to achieve its targets.

(b) State one more barrier each of the type identified in part (a) above. 1 mark

Ans. (a) Two communication barriers are:
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(1) Personal barrier/ Lack of confidence of superior on his subordinates. +
(i1) Organisational barrier/ Organisational facilities.

(b) Personal barrier: (Any one)

(1) Fear of challenge to authority may make the superior withhold 1 mark
communication.

(i1) Unwillingness to communicate on the part of the subordinates may arise if =
they perceive that the communication may adversely affect their interests. 1+1+1
(i11) Lack of proper incentives may hinder the initiative of the subordinates to =
communicate. 3 marks

(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

Organisational barrier: (Any one)

(1) Organisational policy may not be supportive to free flow of
communication.

(i1) Rigid Rules and regulations may delay communication.

(i11) Status of the superior may not allow his subordinates to express their
feelings freely.

(iv) Complexity in organization structure leads to delayed and distorted
communication.

(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

11 | Q. Vinod - The Human Resource Manager, U mesh - The Assistant
manager and Ashok -The Marketing Head of Hitachi Enterprises Ltd.
decided to leave the company.

The Chief Executive Officer of the company called the Human Resource
Manager. Vinod and requested him to till-up the vacancies before
leaving the organization. Vinod suggested that his subordinate Rajesh is
very competent and trustworthy. If he could be moved up in the
hierarchy, he would do the needful. The Chief Executive Officer agreed
for the same. Rajesh contacted 'Zenith Recruiters' who advertised for
the post of marketing head for 'Hitachi Enterprises Ltd'. They were able
to recruit a suitable candidate for the company. Umesh's vacancy was
filled-up by screening the database of unsolicited applications lying in the
office.

(a) Name the internal/external sources of recruitment used by 'Hitachi
Enterprises Ltd.' to fill-up the above stated vacancies.

(b) Also, state any one merit of each of the above identified source of
recruitment.

Ans. (a) Sources of recruitment used to fill up the vacancies are:

(1) Promotion

(i1) Placement Agencies and Management Consultants
(i11) Casual Callers

2x3

(b) Merit of each of the above identified source of recruitment:
4
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Promotion: (Any one)

(1) It helps to improve motivation, loyalty and satisfaction level of employees.

(1) It has a great psychological impact over the employees because a
promotion at a higher level may lead to a chain of promotions at lower levels
in the organisation.

(111) It is a more reliable way of recruitment since the candidates are known to
the organisation.

(iv) It is a cheaper source of recruitment.

Placement Agencies and Management Consultants: (Any one)

(1) They recommend suitable names to their clients.

(1) It helps in enticing the needed top executives from other companies by
making the right offers.

Casual Callers: (Any one)
(1) It reduces the cost of recruiting workforce in comparison to other sources.
(i1) It saves time.

(If an examinee has given only the heading, 4 mark for each heading
should be awarded)

1 %2> marks

% x3

1 %2> marks

1%5+1%

3 marks

12

Q. Mr. Aditya Gupta was the chairman of Vandan Bank'. The Bank was
earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank announced taking over of ‘Karur Bank'. Aditya Gupta
knew that the share price of Vandan Bank would rise on this
announcement. Being a part of the hank, he was not allowed to buy
shares of the hank. He called one of his rich friends Nimesh and asked
him to invest Rs.6 crores in the shares of his bank promising him the
capital gain.

As expected. the share prices went up by 40% and the market price of
Nimesh's shares was now 8.4 crores Rupees. He had earned a profit of
32.4 crores Rupees. He gave 1.2 crore Rupees to Mr. Aditya Gupta and
kept 1.2 crore Rupees with him. On regular inspection and by
conducting enquiries of the brokers involved, Securities and Exchange
Board of India (SEBI) was able to detect this irregularity. SEBI imposed
a heavy penalty on Aditya Gupta.

By quoting the lines from the above para identify and state any two
function, that were performed by SEBI1 in the above case.

Ans. Functions that were performed by SEBI in the above case were:

(1) Regulatory function
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‘On regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this
irregularity.’

SEBI can call for information by undertaking inspection, conducting
enquiries and audits of stock exchanges and intermediaries.

(i1) Protective function
‘The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.’
SEBI controls insider trading and imposes penalties for such practices.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

2 mark for identifying
each function

+

Y2 mark for quoting

the line
+
% mark for each
statement

1%x2

3 marks

13

Q. State any three direction which can be issued by the consumer court
to the opposite party if it is satisfied about the genuineness of the
complaint.

Ans. If the Consumer Court is satisfied with the genuineness of the
complaint, it can issue one or more of the following directions to the
aggrieved party as reliefs: (Any three)

(1) To remove the defect in goods or the deficiency in service.

(i1) To replace the defective product with a new one, free from any defect.
(i11) To refund the price paid for the product.

(iv) To pay a reasonable amount of compensation for any loss or injury
suffered by the consumer due to negligence of the opposite party.

(v) To pay punitive damages in appropriate circumstances.

(vi) To discontinue the unfair/ restrictive trade practice and not to repeat the
same in future.

(vii) Not to offer hazardous goods for sale.

(viii) To withdraw hazardous goods from sale.

(ix) To cease manufacture of hazardous goods.

(x) To pay any amount (not less than 5% of the value of the defective goods
to be credited to the Consumer Welfare Fund or any other
organisation/person, to be utilised in the prescribed manner.

(x1) To issue corrective advertisement to neutralize the effect of misleading
advertisement.

(xi1) To pay adequate costs to the appropriate party.

(If an examinee has given only the headings, 2 mark for each heading
should be awarded)

1x3

3 marks

14

Q. Explain any four features of management.

Ans. Features of management: (Any four points with explanation)

(1) Goal oriented process
(i1) Group activity

% mark for the

heading
+

Y2 mark for
explanation
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(111) Intangible force
(iv) Pervasive

factory in the backward area of Bihar where very less job opportunities
were available. People of that area welcomed this effort of 'Panda Trucks
Ltd.'. To attract people to work in its factory it also decided to provide
many other facilities like school, hospital. market etc. in the factory
premises.

'Panda Trucks Ltd.' started earning huge profits. Another competiting
company asked its production manager 'Sanjay' to investigate the
reasons of earning huge profits by 'Panda Trucks Ltd'.

Sanjay found out that in both the companies there was systematic co-
ordination among the various activities to achieve organizational goals.
Each employee knew who was, responsible and accountable to whom.
The only difference was that in his organization communication took
place only through the scalar chain, whereas 'Panda Trucks Ltd: was
allowing flow of communication in all the directions as per the
requirement which lead 10 faster spread of information as well as quick
feedback.

(a) Identify the type of Organization which permits 'Panda Trucks Ltd.'
the flow of communication in all the direction.

(v) Multi- dimensional 1 x4
(vi) Continuous process =
(vil) Dynamic function. 4 marks
(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)
15 | Q. ‘Accent Electronics Ltd.' was operating its business in Malaysia. The
company started exporting its products to India when the Prime
Minister announced relaxation in import duties on electronic items. The
company appointed retailers in India who had direct online links with
the suppliers to replenish stocks when needed.
Identify and explain the dimensions of business environment discussed in
the above case.
1 mark for
(i) Political environment identification of each
dimension
Political environment includes political conditions such as general stability
and peace in the country and specific attitudes that elected government +
representatives hold towards business.
(i1) Technological environment 1 mark for its
explanation
Technological Environment of business includes forces relating to scientific
improvements and innovations which provide new ways of producing goods =
and services and new methods and techniques of operating a business.
2+2
4 marks
16 | Q. 'Panda Trucks Ltd.’ decided to set-up its new truck manufacturing
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(b) State an advantage of the type of organization identified in (a) above. 1 mark
(c) State values which 'Panda Trucks Ltd.' wanted to communicate to the
society. +

1 mark for advantage
Ans. (a) Informal organisation.
+
(b) Advantage of informal organisation: (Any one)

(1) It fulfills social needs.

(1) It compensates for inadequacies in the formal organisation.

1 mark for each value
(If an examinee has given only the headings, /2 mark for each heading =

should be awarded) 1x2
=2 marks

(c) Values which ‘Panda Trucks Ltd.” wanted to communicate to the society =

are: (Any two) 1+1+2

(1) Development of backward regions. =

(i1) Creating employment opportunities. 4 marks

(111) Providing basic amenities to employees.
(iv) Fulfilling social responsibility.

( Or any other correct value)

17 | Q. K.S. Energy Ltd. was an energy efficiency consultancy company. To
get the business, the team leader and his team used to travel to different
states to give presentation to their clients. As per the policy of the
company, the team leader used to travel by air. whereas his team
travelled by road/train. It was not only time consuming but also at times
forced female team members to travel alone.

As a result. the subordinates were not acting in a desired manner to
achieve organizational goals. The CEO came to know about it. He called
the team leader. discussed the matter with him and changed the travel
policy of the company. It was decided that all the members including the
leader would travel together in future and would usefully utilize the
travelling time in discussion with the subordinates about the presentation
to be (liven to the clients. This made a positive impact and every member
of the team started acting in a manner as desired by the team leader.
State the features, of the element of the function of management used by
the CEO.

Ans. Features of motivation:

(a) It is an internal feeling as the urges, drives or needs of human beings
which influence human behaviour are internal.

(b) It produces goal directed behaviour as it stimulates people to accomplish
desired goals.

(c) It can be positive in the form of positive rewards or negative like
punishment, stopping increments etc. 1x4
(d) It is a complex process as any type of motivation may not have a uniform =
effect on all the members.

4 marks

(If an examinee has given only the headings, /2 mark for each heading
8
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should be awarded)
18 | Q. Diksha Ltd. was marketing "Dish-Washer' which were very Popular
due to their quality and after-sale services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored its after-sale
services. As a result its relations with the customers got 'Toiled and the
image of the company was damaged in the eyes of the public. Top
management became concerned when the profits for the current quarter
fell steeply. On analysis it was revealed that ignoring after-sale services
was its reason. Therefore, the company took all possible measures to
protect and promote its image. As a result the goodwill of the company
improved in the society.
(a) Name and state the communication tool used by the marketer in the
above case to improve its images.
(b) Also explain role of the tool as identified in part (a).
Ans. (a) Public Relations.
Public Relations refer to a variety of programmes to promote and protect a
company’s image or its products in the eyes of the public.
(or any other correct meaning)
(b) Role of Public Relations: (any three points with explanation) Y2 mark for naming
(1) Press Relations. the tool
(i1) Product Publicity. +
(1i1) Corporate Communication. 2> mark for stating
(iv) Lobbying. =
(v) Counselling. ot
(vi) Smooth functioning of business. =
(vi) Image building. 1 mark
(vii) Launching new products.
(viii) Facing adverse publicity.
(ix) Supplementing advertising. +
(x) Satisfying interest of different public groups.
(x1) Building awareness Y2 mark for heading
(xi1) Building credibility. +
(xi11) Stimulating sales force. Y2 mark for its
(xiv) Lowering promotion costs. explanation
(If an examinee has not given the headings but has given the correct 1x3
explanation, full credit should be given) =
3 marks
1+3
4 marks
19 | Q. State any four methods of floatation of new issues in the primary
market.
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Ans. Methods of floatation in the primary market: (Any four points)

(1) Offer through Prospectus is a method of floating new issues by inviting
subscriptions from the public through issue of prospectus.

(i1) Offer for Sale is a method in which the securities are not issued directly
to the public but through intermediaries like issuing houses or stock brokers.

(111) Private Placement refers to the allotment of securities by a company to 1x4
institutional investors and some selected individuals. =
(iv) Rights Issue is the privilege given to existing shareholders to subscribe to 4 marks

new issue of shares in proportion to the number of shares they already hold.
(v) E-IPO refers to issuing securities through the online system of stock
exchange.

20 | Q. Two years ago Nishant, completed his degree in Textile Engineering.
He worked for sometime in a company manufacturing readymade
garments. He was not happy in the company and decided to have his own
readymade garments manufacturing unit. He set the objectives and the
targets and formulate action plan to achieve the same. One of his
objectives was to earn 80% profit on the amount invested in the first
year. It was decided that raw materials like cloth, thread, buttons etc.
will be purchased on two months credit. He also decided to follow the
steps required for marketing the products through his own outlets. He
appointed Ritesh as a production manager, who decides the exact
manner in which the production activities are to be carried out. Ritesh
also prepared a statement showing the requirement of workers in the
factory throughout the year. Nishant informed Ritesh about his sales
target for different products areawise for the forthcoming quarter.

A penalty of 3200 per day was announced for the workers who found
smoking in the factory premises. Quoting lines from the above para
identify and explain the different types of plans discussed.

Ans. The different types of plans are:
(1) Objective

‘One of his objectives was to earn 80% profit on the amount invested in the
first year.’

An objective is the end which the management seeks to achieve within a
given time period.

(ii) Policy

‘It was decided that raw materials like cloth, thread, buttons etc. will be
purchased on two months credit.’

Policy is a general guideline which brings uniformity in decision making for
achievement of predetermined objectives.

(111) Procedure 2> mark for identifying
the type of plan and
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‘He also decided to follow the steps required for marketing the products
through his own outlets.’

OR
‘He appointed Ritesh as a production manager, who decides the exact
manner in which the production activities are to be carried out.’

It consists of sequence of routine steps on how to carry out activities. It
details the exact manner in which any work is to be performed.

(iv) Budget

‘Ritesh also prepared a statement showing the requirement of workers in the
factory throughout the year. *
OR
‘Nishant informed Ritesh about his sales target for different products
areawise for the forthcoming quarter.’

A budget is plan which states expected results of a given future period in
numerical terms. It may be expressed in time, money or physical units.

(V) Rule

‘A penalty of 3200 per day was announced for the workers who found
smoking in the factory premises.’

A rule is a statement that specifies what is to be done or not to be done.

quoting it
+
Y2 mark for its
explanation

1x5

5 marks

5 marks

21

Q. Yash is working in a multinational company in Noida. He was
running temperature for the last many days. When his blood was tested,
he found positive for chickengunia. He was admitted in the hospital and
a blood transfusion was advised by the doctors as his condition was very
serious. One of his colleagues sent a text message to his immediate
superior ‘Vineet’. Vineet immediately sent a text message to the
employees of the organization requesting them to donate blood for Yash.
When the General Manager came to know about it, he ordered for

fumigation in the company premises and cleanliness of the surroundings.

(a) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(c) Identify any two values that are being communicated by Vineet to the
society.

Ans. (a) Formal communication

‘When the General Manager came to know about it, he ordered for
fumigation in the company premises and cleanliness of the surroundings.’

Informal communication

‘One of his colleagues sent a text message to his immediate superior
Vineet’.’

Y2 mark for indicating
type

11

Get More Learning Materials Here : & m

@E www.studentbro.in



of
OR communication
+
‘Vineet immediately sent a text message to the employees of the organization Y2 mark for quoting
requesting them to donate blood for Yash.’ the lines
(b) Features of Informal communication: (Any two) 1x2
(1) It takes place without following the formal lines of communication. 2 marks
(11) It arises out of social needs of the employees
(i11) It spreads rapidly.
+
(or any other correct feature)
2 x2
1 mark
+
1x2
2 marks
2+1+2
5 marks
22 | Q. State the relationship between ‘planning’ and ‘controlling’ functions
of management.
Ans. Relationship between planning and controlling: (With explanation)
(1) Controlling takes place on the basis of standards developed by planning
because if the standards are not set in advance, managers have nothing to 1x5
control. =
5 marks
(i1) Planning without controlling is meaningless because
once a plan becomes operational, controlling ensures that events conform to
the plans.
(i11) Planning is prescriptive whereas controlling is evaluative because
planning prescribes an appropriate course of action while controlling
evaluates whether decisions have been translated into desired actions.
(iv) Planning and controlling both are forward looking because while plans
are prepared for the future, controlling seeks to improve the future on the
basis of the past experience.

12
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(v) Planning and controlling are both looking back because,
while planning is guided by past experiences,
Controlling compares the actual performance with the standards set in the

past.

(In case the candidate has not given the relationship in the form of points
but has explained all the points in his answer, full credit be given)

23

Q. Explain any four points that highlight the importance of principles of
management.

Ans. Importance of principles of management (Any four points with
explanation)

(1) Provide the mangers with useful insights into reality.

(i1) Help in optimum utilisation of resources and effective administration.
(i11) Help in taking scientific decisions.

(iv) Help in meeting changing environment requirements.

(v) Help in fulfilling social responsibility.

(vi) Used as a basis for management training, education and research.

(if an examinee has not given the headings as above but has given the
correct explanation, full credit be given)

Y2 mark for heading
+
1 mark for explan-
ation

1%:x4

6 marks

24

Q. Sakshi Ltd. is a company manufacturing electronic goods. It has a
share capital of 120 lakhs. The earning per share in the previous year
was 0.5. For diversification, the company require additional capital of 80
lakhs. The company raised funds by issuing 10% debentures for the
same. During the current year the company earned profit of 16 lakhs on
capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost in respect of earning
per share on diversification. Show your calculations clearly.

(b) Also state any three factors that favour the issue of debentures by the
company as pan of its capital structure.

Ans. (a) Earning per share before diversification: 0.50

Calculation of Earning per share after issue of Debentures: (assuming face
value of ¥100 per share)

Particulars 3
Share capital 1,20,00,000
10% debentures 80,00,000
Total 2,00,00,000
Profit before interest and tax 16,00,000
Less Interest 8,00,000
Profit before tax 8,00,000
Less tax@ 40% 3,20,000
Profit available to sharcholders 4,80,000
Earning per share

2 marks for
calculating Profit
available to
shareholders
(34,80,000)

Get More Learning Materials Here : &

13

@E www.studentbro.in




=4,80,000/1,20,000 =34
This clearly shows that the shareholders have gained after the issue of
debentures since the Earning per share has increased from %0.50 to I4.
OR
Calculation of Earning per share after issue of Debentures: (assuming face
value of 10 per share)
Particulars 3
Share capital 1,20,00,000
10% debentures 80,00,000
Total 2,00,00,000
Profit before interest and tax 16,00,000
Less Interest 8,00,000
Profit before tax 8,00,000
Less tax@ 40% 3,20,000
Profit available to sharcholders 4,80,000
Earning per share
=4,80,000/12,00,000 =30.40

This clearly shows that the shareholders have lost after the issue of
debentures since the Earning per share has decreased from %0.50 to 30.40.

[Note: In case, a student has calculated Return on Investment as 8%
(16,00,000/32,00,00,000) and compared it with the rate of interest which is
10% and concluded that the shareholders have lost after the issue of
Debentures since the interest rate is greater than the Return of Investment, 1

mark is to be awarded]

[In case the examinee has assumed any other face value and has shown
correct calculations and given the correct conclusion, full credit be given]

(b) Factors that favour issue of debentures by the company: (Any three)

(1) A good cash flow position makes debt funding more viable.

(i1) High Interest Coverage ratio lowers the risk of company failing to meet
its interest payment obligations

(i11) High debt service coverage ratio indicates better ability to meet the debt
service obligations.

(iv) If Return on Investment of the company is higher than the interest rate on
debt, its ability to use debt is greater.

(v) Lower the cost of debt higher is the ability to employ debt.

(vi) High tax rate makes debt relatively cheaper.

(vii) If the stock market conditions are bearish, a company may be able to
easily raise funds through debt.

(viii) If the company does not want dilution of control, it will favour debt as a
source of finance.

(ix) Inclusion of debt in the capital structure makes the capital structure
flexible.

(x) If the business risk is lower, its capacity to use debt is higher.

1 mark for correct
calculation of Earning
per share and
conclusion

2+1

3 marks
for any of the given
correct calculations

Get More Learning Materials Here : &

14

@’E www.studentbro.in



(x1) Raising funds through debt involves low floatation costs.

(If an examinee has given only the heading, 4 mark for each heading
should be awarded)

25 | Q. Pooja purchased a packet of juice from the local grocery shop. The
information provided on the packet was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer
Protection Act and got the relief.

(a) Identify the important aspect which has been neglected by the

marketer in the above case. 1 mark
(b) Explain briefly the functions of the aspect identified in (a) above. +
Y2 mark for heading

Ans. (a) Labelling. +

Y2 mark for
(b) Functions of labelling: (any five points with explanation) explanation
(1) Describes the product and specifies its contents. =
(i1) Identifies the product or brand. 1x5
(i11) Helps in grading of products. =
(iv) Helps in promotion of products. 5 marks
(v) Provides information required by law. =

1+5

(If an examinee has not given the headings as above but has given the =
correct explanation, full credit should be given) 6 marks
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